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TCP/IP US4 TF7 AT ORDIER

B OpenTCP(IPAddress’, Port)
AHBIE | TPAddress’ ERAEDIPTRLRAEXFTHRELEY
Port BHREOR—IES
H 514 | Client TCPUSATUNAT Tk
fiEER IP7RLAR, R— B EBEHRTELT. TCP/IPOSA T UMA T UM EERLET
{3 AR5 >> t = OpenTCP('192.168.0.5',8802)




TCP/IP 54T AT HDHEIRR

B CloseTCP(Client)
AANBI% | Client  OpenTCPTYERLLIZTCPYSA T U ATV Hk
HA5I% | 4L
FRER TCP/IPYSATUNAT O MEHIBRLET
12 A5l >> CloseTCP(t)
AYURDEE
B SendCmd(Client, 'command’)
AF151%8% | Client OpenTCPTYERLT=0S5A4 7 ATz Ok
'command’ FEEaTUKR
HAsI% | AL
fiEER B AEBANITIUREEELET
A% | >> SendCmd(t, “START’)
T—HADZE
B rcvstr = RecvData(Client)
AF151% | Client OpenTCPTHYERLT=UT5A 7 AT Ok
HABIE | rovstr RAET—% (char &)
fiZE5 ERamasroT—2ERELET
= A5 >> rev = RecvData(t)
YIT)IATURDEZE
X rcvstr = SendQuery(Client, 'command’)
AF151%88 | Client OpenTCPTYERLT=0S5A4 7 ATz Ok
'command’ FEEaATUKR
HABIE | rovstr Z{ET—% (char &)
fiZER BRAMBAIT)ATUREEREL. WET —4ZRELET
=5 A5 >> rev = SendQuery(t, "*XIDN?’);
>> rcv = 'HIOKI,LR8102,123456789,V1.01
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B Wave = GetWaveBDATa (Client , CH, chType, top, stepNum, resolution, ratio, offset)
AN5EI¥ | Client . OpenTCPTYERLT=UZA T AT Oz Hk
CH D REERTT S5F v )L CHILT)
chType D XARFrRILDE
top D T—HHISEEME
stepNum - T—AEEE
resolution D RERT—ADHEEE
ratio D RIF—1) TR
offset L A=) A T7tyk
HABIE | Wave : ERGLIZEB T —2(RYE |, double E)
FRER BELEFrRIVEEFED KRR T —F%BDATaaY VR TRIBLET
A5 >> Wave(;,1) = GetWaveBDATa (t, 'CH1_1’, 'int32’, 0, 5, 0.0001, 1, 0)
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B Wave = GetWaveADATa (Client , CH, top, stepNum, resolution, ratio, offset)
AF151%8% | Client : OpenTCPTHERLTI=054T7 AT ook
CH D RMERET HFvRILMWI CHILT)
top . T—AESEEME
stepNum . TS
resolution D MERT 2D ERE
ratio D RIT—= TR
offset D RT— A 7vk
HABIE | Wave : ERGLIZRBET —2(RYE |, double®!)
R BRELF vy RILEHEBD K T —2%ADATaaY R THRGLET
15 51 >> Wave(;,1) = GetWaveADATa (t, 'CH1_1’, 0, 5, 0.0001, 1, 0)

VDATaav U REFEARALIZEE T —2 DG

X Wave = GetWaveVDATa (Client , CH, top, stepNum)
AJI51% | Client . OpenTCPTYERLT=UZA T AT Oz Uk
CH D RBERTT S5F v )L CHILT)
top D TG SEENE
stepNum L TS
HAEI% | Wave : BRGLIZERET—2(RYE | double!)
FRER BELEFYRIVEBFE DRI T —F%EVDATaaY R TRIGLEY

15 51

>> Wave(;,1) = GetWaveVDATa (t, 'CH1_1", 0, 5)
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